Newton’s Method on the TI83 Graphing Calculator

Let us use Newton’s Method to find the square root of 2 (x2-2=0).  

Use an initial guess at x1=1.

	Let ƒ(x)= x2-2

Then ƒ’(x)=2x

Enter these in the graphing calculator


In the Y= editor:

1. Enter in ƒ(x) under Y1.

2. Enter in ƒ’(x) under Y2.
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	In the Home Screen

3. Enter the initial guess x1
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<Enter>

[Note: Sto( is above the on/off key)
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4. Enter in the formula for Newton’s Method.
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<Enter>

[Note: to get Y1, press VARS (left of clear button),Y-VARS,Function, Y1]

[Note: same for  Y2]

1.5 is the X2.

Hit Enter for X3, X4, X5., and so on.
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